
Boosting: Foundations and Algorithms
by R. E. Schapire & Y. Freund

— errata —

Last update: June 7, 2012

page correction
82 theorem 4.6: |H| should be omitted from the second bound, which should instead read:

err(H) ≤ 2T (lg(2em/T ) + d lg(2em/d)) + 2 lg(2/δ)
m

.

265 exercise 8.5(d): RE (p0 ‖ q) should instead be BG (p0 ‖ q).
266 exercise 8.7(a): The first part of the question should instead read, “Use exercise 8.5(d) to

prove that...”
407 exercise 12.2: ρ(x) should instead be redefined to be:

ρ(x) .= C(π(x), F (x))− Cmin(π(x)).

410 exercise 12.5: In parts (a) and (b), all occurrences of r̂isk(·) should be replaced by
ln
(

r̂isk(·)
)

. In particular, the displayed equation in part (a) should read:

ln
(

r̂isk(Ft−1 + αh)
)
≤ ln

(
r̂isk(Ft−1)

)
− α

m∑
i=1

Dt(i)yih(xi) +
α2

2
.

And the displayed equation in part (b) should read:

ln
(

r̂isk(Ft)
)
≤ ln

(
r̂isk(Ft−1)

)
− ct

m∑
i=1

n∑
j=1

wjDt(i)yiĥj(xi) +
c2t
2
.

Finally, the expression appearing in the hint for part (b) should instead read:

n∑
j=1

|wj | ln
(

r̂isk(Ft−1 + ctsign(wj)ĥj)
)
.

426 equation (13.27) should instead read: G(z) = mΛt(s + z).
427 equation (13.34) should include an additional factor of 1/2.
428 algorithm 13.1: the equation for wt(s) should include an additional factor of 1/2.
450 equation (13.66), and also the definition of CT at the very bottom of the page should both

include additional factors of 1/2.
487 exercise 14.3(c): The very last sentence should read, “Also show that this solution is unique,

except possibly when τ ′ = 1.”


